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2022
ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any fen from the following questions :
1x10=10

Ooq 2T R e wehR T

(a) Mention one objective of Indian ﬁscal
policy.

SR TN NS 6T Sgwen Beay 47 |

(p) What is repo rate of the RBI?
sRe e @FI @ @6 &9
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(3)
(2)

(k) Define the concept of ‘sustainable
(c) State one direct instrument of Indian

. agriculture’.

monetary policy. { e AT 4RICOH RS o |

PR Rl () What is diversification of industries?
(d) What is meant by financial inclusion’ |

| e foread 52
‘ﬁ@nwwq’mi%mm? |

. iective of the
(m) State one main obje
(e) Give the meaning of ‘For

8 by the
eign Direct Minimum Wages Act, 194 X
Investment’. Indian Government.
AR IS R sy forey | S8y TS TS SR oS 91 e T
T a1 |
() What is capital formation  in iz ! T S
agriculture? () What kind of manufacturers are €
TR e o1dw £ 2 _

small-scale industries?

urgfer Soaml I R
(9) Give the meaning of ‘minimum Support & g9 BT i
price’ of agricultural produce, 37
- e T A e T3 9 oy | ' (0) Define monetary policy-
{h) State one reason for the growth of {mﬁiﬁﬁﬁ i f |
Service sector in India recently, i i
i from the following questions
MTREF ST waeq CRNET [PPH 9B e 2. Answer any five fr 2x5=10
SCE 399 | in brief :
# Teq full
opspd i e oo 5
() What ig agricultural productivity? bt
IR Cesmatierer & 9

(a) Distinguish between fiscal deficit and

: it.
d of public Sector Ry G snafie 9fod e 1Y
disinvestment.

forefa 41|
Wﬁwﬁﬁﬁaw@ﬁ&m%tmwl
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(b)

()

(@)

(e)

22A/852

(4)

}Vﬁte two characterj
industries,

‘Tﬁmﬂa@ymml

stics of small-scale

Write two merits of GST

GST 3 701 3Re forey |

FgErea 9 s
mww63ﬁﬁa@mﬁq:%1711”““'ﬁﬂﬁﬁﬁqaxﬂﬁ

different mnd in India employS two

they? S of People. Who are
SRS Gy i

(g)

)

(S)

Mention two objectives of the National
Competition Policy of India.

SCE 91

State any two problems of Public Sector
Enterprise of India.

SHed A 49T SO R I o1 S
ey 901

Answer any four from the following

questions :

weTS fidl epiyed [ CPICTl ifRoe Ses fan -

(@)

(b)

(©

Explain any five instruments of fiscal
policy in India.

TS IR eI R 1o Simh e
I <4l |

Discuss the tools of monetary policy
of India.

SIS JUING] SREAPTZ 7101 54 |

Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

IS (OSETRT Tedffre AR Sfw 0
fAPveRIR w0 SIRIE ET awEeE
1|

5x4=20
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(@)

(e)

(9)

(h)

22A/852

(6)

Point out the various labour policies
of India.

ST f{ifen 2 oz =gz fi |

Workers  are  exploited in the
unorganized sector. Do you agree with

this view? Give reasons in support of
your answer.

RIS 167 AR e =1 Wy @y
SfETor a2 F91 2 @mmwmqﬁ@
frm o

What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

T WM o o=@ 3o axfeRmm
R 20T 4 |

Discuss the role of small-scale
industries in Indian economy.

SR wLAifYe T Swmem TR et
A1

Point out the main features of Indian
tax system.

ST T TN o1 FFBPTR Sefrrs fa |

( Continued )

(7)
4. Answer any jfour from the follox;r:)ng4 7
: i
questions : |
oo AT 2T i el SifRer S fia :
(a) Critically discuss the role of agriculture &
in the economy of India.
SHEY SRS $RT PEFN FHACOAIAFSCT
el 91 |
Discuss the problems and remedies of
" small-scale industries of India. 5+5=10
SRSd TG SCUIPTHRE TOU HE TR
HTEPTIR S 91 |

(c) What is service sector? Analyze the
performance of service sector of India

during post 1990’s. 2+8=10
FRRe 7 550 i fize SRey ERRGT
s T Ko 41 |

(d) Explain the role of foreign investment
in the economy of India. 10
SReR SLAIYe ot Rivcmse s =
41 |

(e Give an outline of the various
macroeconomic policies of India. 10
oFed f(fen Ram wftafer Mfen eome
HCERATe <1 |
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(8)

() Give an assessment of the Government
policy towards foreign investment. 10

PR REamR crae sqors e o
e SSRCGHT |

{g) Point out the various shortcomings of

the monetary policy of India. Suggest
some remedial measures. 6+4=10

W{Eﬁﬁﬂﬁﬁmwﬁwm§mﬁw
WWWWWWW:

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural
productivity. 6+4=10

m@a@ﬁaﬁa@wm@wml
IR STl 3R ™ fogam o
o | '

() Discuss the role of public sector

industries in the economic development

of India. 10
SEeY AT Trre wrmEal qew SR
ST ST 47 |

() What is agrarian structure? Outline the
agrarian structure of India. 4+6=10
?ﬁﬁlﬁ anefe &9 S[eq ?ﬁ"‘[@ ‘ﬁ]%ﬁ?{ BATE
SRS 47 |
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